pp — bb,b — by}

pp — Tttt — t)f?

pp — 44,94 — 9x,

Region | HMS  Hp  Nit[GeV] Nypjer [GeV] | myz = 650 GeV mg =700GeV  my = 1000 GeV
Mo = =1GeV Mo = = 50GeV Mo = = 100 GeV
1 >500 >500 >2 0 1681i14 599ﬁ:13 7292176
2 >750 >1500 >3 0 3.57 £0.21 1.38 £ 0.18 584+21
3 >500 >500 >5 0 32.40 £ 0.54 38.63 £0.92 179.2 £35
4 >750 >1500 >5 0 1.65+0.13 1.08 +£0.14 28.0+1.6
5 >750 >1500 >9 0 0.08 £0.02 0.26 £ 0.05 1.16 +0.23
6 >500 >500 >2 >2 202.3+1.6 953+14 11.61 £0.37
7 >750 >750 >3 >1 47.23 +0.92 21.46 +0.88 50.24+1.0
8 >500 >500 >5 >3 6.92 +£0.21 11.34 £0.35 0.56 £ 0.06
9 >750 >1500 >5 >2 2.31+0.15 229+0.23 1.13+0.12
10 >750 >750 >9 >3 0.08 £0.02 0.30 £0.06 0.04 +0.02
11 >300 >300 >7 >1 57.00 £ 0.86 1522421 16.50 £ 0.58
12 >750 >750 >5 >1 19.57 +£0.55 15.66 £0.74 21.82 + 0.68
pp —bb,b = by} pp—tt—tx] pp—qq,q — qx}
Region HITniss Hry Niet [GeV] Nb_]-et [GeV] mg = 500 GeV mg = 300 GeV mg = 700 GeV
Mo = 300 GeV Mo = 200 GeV My = 400 GeV
1 >500 >500 >2 0 50.5+1.2 133.0+5.1 1055.4 +£9.0
2 >750 >1500 >3 0 1.46 +0.20 4.11+0.74 25.6+1.3
3 >500 >500 >5 0 18.32 £0.62 81.5+3.7 337.3+4.7
4 >750 >1500 >5 0 0.95+0.14 3.84+0.71 1824 +1.1
5 >750 >1500 >9 0 0.10 £0.04 0.58 £0.28 1.03 £0.21
6 >500 >500 >2 >2 86.8 £1.8 10.15£0.50 16.87 +0.40
7 >750 >750 >3 >1 241+1.1 7.26 £0.79 21.71 £ 0.65
8 >500 >500 >5 >3 5.54+0.34 0.92 £0.09 0.94 +£0.07
9 >750 >1500 >5 >2 2.02+0.26 0.83+£0.15 0.78 £0.08
10 >750 >750 >9 >3 0.06 +0.03 0.06 +£0.05 0.054+0.02
11 >300 >300 >7 >1 804 +1.7 129.2£29 59.3+1.0
12 >750 >750 >5 >1 12.35+0.72 5.60 £0.65 13.41 +£0.51



